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Second Paper : Organic Chemistry

Time allowed : Three hours Maximum Marks 100

1.

\ PART-A :
Arrange the following amines in increasing order of basic nature.

freifeiiea AT P AR ared S TG §¢ FH TR BT
CHL,NH,. (CH,),NH, (CH),N, CHNEL,

What are nucleophiles? Select the nucleophilés form the following -
TS Tr ¥7? FrfiRad § § e eIy -

ZnCl,RSR, SO, HO
Tropyliun ion is stable. Give reason.

| JuERTE SR SR ¥ | SR AR |

Write [UPAC names showing R and S configutation of following
enantiomers -

ﬁwﬁr@ﬁqﬁﬁmﬁﬁRasmmﬁymmcwm—

CH "~ copd”)

25
H sc—-‘—- CHO H zN—-l—-H
H CH2 COOH
Give the reaction toprepare iso-butane with the help of Wurtz reaction.
gdor aififpaT FIRT SR T &Y siffean AR |

What happens when ¢yclohexane reacts with alkaline KMnO,?
ATsae b B sifufear &R KMnO, Y BN IR 9T BT &7

An aliphaticunsaturated hydrocarbon having molecular formula CH,
gaye dcetone and formaldehyde on ozonolysis. Identify the

hydrocarbon and write chemical equations of the reaction.
wp UieThicd IATE , forat g CH, &, SSirnor
Wﬁaﬂaﬁﬁﬁ@s@a‘m%lmaﬁqﬁﬁﬁmm

W ferfem | |
Why alcoholic KOH is used for dehydrohalogenation of alkyl halide

and not aqueous KOH. _
WW%W%@WWKOHﬁW
2rar : 9 & wieig KOH.

From the stereo chemical configuration of products what is the
differencein S,! and S’ reaction.

S, asﬂzﬁmﬁﬁiﬁwﬁa%ﬁrﬁqmmﬁﬁﬁmaﬁqm%m
FATE? ) | .
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11.

13.

14,

16.

17.

What is Birch reduction? 99 Sq=a 941 &7
- PART-B

What are lpcalised and delocalised chemical bonds? Give example.

BEPT 77 RPd=Aipa TS 978 91 7 SAEX0T AT |

Explain the following terms - PRI TaT 31 HHART —

-(@) Threo and erythro diastereomers. R IR oRel faaRy aaEae
(b) Recemisation XRAIHEROT

~ Give the mechanism of Free radical halogenations of alkane.

Ve B TARHIERY B o e Rparfafer A |
Give mechanism of Friedel - Crafis alkylation.
ree — ey Yebeiavul st @ fafate ST |
Explain why vinly halides and aryl halides are less.reactive as
compared to alkyl halides in nucleophillic substitutions? '
TRPER TRET & W YeeT SaEel 9 ST aRie s
Forr YRer Yerge T parier i A €2

PART-C

UNIHL \

Explain the following (any two) AR & A AR (PR ) —

@ Hyper conjugation IR

(i) Resonance BRI _
Gii) Resolution of endtionmers. TR W4T 1 RS
“ OR :
@ Discuss briefly any three methods for determination of reaction
of mechanismi-;
i) Whatare peometrical isomers? Give examples.

(1) aﬁmﬁﬁ'ﬁmﬁfﬁﬂaaﬁﬂﬁﬁﬁmﬁfﬁﬁﬁﬁmﬁ
ol AT | ~

(z)ﬁmzlmﬁuﬂw%?wwaﬁm -

UNIHL

@ Why isBayer's strain thesry? TR 1 FGREr Rigr o 27
mechanism of dehydration of alcohols.

(i) Givethe
TR D fyoiferaeor & fpafafdy A |
(i) Give hydroboration oxidation reaction of alkene.
s an el FTESIERAB] JTTPRT sifafear AT |
| OR
e substitution reaction at allylic and vinylic positions.
@ Give _ a |

Scanned by CamScanner



18.

(i) Give polymerisation reactions of alkynes.

TEPIS DI TEADIBRUT ATAp I & |
UNIEII

Write notes on following - FF=féRad qx fewdiy faRay —

@ Aromaticity and Huckles rule TRfeear 3 =t @1 fram

@) DDT and TaBHC |

“ OR

@ Give the mechanism of SN' reactions with energy profile diagram. -
SN! s, &l fpanfafs ol NG & W Y |

(i) What(is nieant by orientation and ortho - para ratio.

ST aur Sifeli-RT Srgu B T 3 §?
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